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MEC-001 

MASTER OF ARTS 
(ECONOMICS) 

Term-End Examination 

December, 2012 

MEC-001 : MICRO ECONOMIC ANALYSIS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as directed. 

SECTION - A 
Answer any two of the following : 	 2x20=40 
1. 	There are two persons (1 and 2) in an economy. 

They consume two goods xi  and x2 [where 

i stands for commodities]. Their initial 

endowments of the good i (i =1, 2) are wi and 

w2. If you know that they have identical 

preference, compute the equilibria of the 
following : 

MaX(X.ii )

0.6 

 (X)

0.4  

Subject to P1  A + P2  x2 = P1  TV j. + P2  7,4 
Where the endowments of the agents are given 
as, 

Agent 1 : wl = 7, w21  = 5 

Agent 2 : w? . 3, w22  . 7 
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2. (a) How do firms under Bertrand model arrive 

at the equilibrium price ? In what way is 

this model different from that of 

Cournot's ? 

(b) The linear demand functions faced by two 

firms are given as 

= — b1p1  + cp2  

y2  = a2  + cp1  — b2p2  

Show that quantities are always lower and 

prices higher in Cournot competition than 

in Bertrand competition. 

3. (a) Discuss the problem arising due to hidden 

action and hidden information. 

(b) Consider a market where 100 persons want 

to sell their used cars. There cars are of two 

types, good and bad (in quality). It is known 

that only half of the cars are of good quality. 

The owner of a good wants to get at least 

Rs. 1,00,000 while the owner of a bad car is 

willing to sell it for Rs. 50,000. The buyers 

are willing to pay a minimum Rs. 60,000 

for bad cars and Rs. 1,10,000 for good cars. 

In this market, however, only the owner 

knows whether the car is of good or bad 

quality. If the buyer is willing to pay the 

expected value of a car, work out the 

equilibrium outcomes in the market. 
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4. 	What problems would you encounter in making 

social decisions if you want to implement the 

following rule : an allocation X is socially preferred 

to an allocation Y only if everyone prefers X to 

Y? 

To overcome the problems, what alternatives 

would you advocate ? Discuss their features. 

MEC-001 	 3 	 P.T.O. 



SECTION - B 

Answer any five questions from this section : 5x12=60 

	

5. 	If the utility function of two goods x and y is given 

as 

U = xy2  

(a) Derive the indirect utility function if ID, and 

pay  are prices of x and y and m is income. 

(b) Use the information in (a) and derive the 

expenditure function. 

	

6. 	Do you agree with the view that public goods 

cannot be provided efficiently ? Give reasons in 

support of your answer. 

	

7. 	(a) Distinguish between pure strategy Nash 

equilibrium and mixed strategy equilibrium. 

When is a mixed strategy used ? 

(b) Find all the Nash equilibria of the following 
game : 

Player 2 

Player 1 
Left Right 

Up (5, 4) (1, 3) 
Down (4, 1) (2, 2) 
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8. 	Assume that there are four firms supplying a 
homogeneous product. They have identical cost 
functions given by C(Q) = 40Q. If the demand 
curve for the industry is given by 

P = 100 — q, 

find the equilibrium industry output if the 
producers are Cournot competitors. What would 
be the resultant market price ? What are the 
profits of each firm ? 

	

9. 	Veena faces the choice problem between two 
gambles. In the first gamble, she wins 200 if a 
coin comes up heads and loses 100 if the coin 
comes up tails. In the second gamble, she wins 
20,000 if the coin comes up heads and loses 10,000 
if the coin comes up tails. 

Assuming her initial wealth w is 10,000, find : 

(a) If a risk-neutral Veena would accept either, 
both or neither of the gambles. 

(b) What would be her decision on the gambles 

given her utility function U = 	? 

(c) Compare and explain your results in 
(a) and (b). 

10. Discuss the approaches adopted by Pigon and 
Pareto for analysing the problems of welfare 
economics. 
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11. Why is there a social cost to monopoly power ? 

Suppose a production process gives rise to 

negative externalities, would your answer on the 

social cost of monopoly change ? Explain. 
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37rar 	afT : 100 

: 	Mc q 1177 4 lq-Tqui,,tH WrgY 	cOr4c,  

%TM - 
f*77 	6T-R s-TR I 	 2x20=40 
1. 	"r*-it 31.2i- rd-T-2TT tTf.-41 (1 31)-T 2) t I 	t apif 

xi 	 3Trvp4 -qTqAA 

1 Ti-*-1- -grq (i =1, 2) ""1 	#Trrff W)1:f, wi 

3-117  w2 t I qrq 3Trq 	t 	ERt 	1.) ITft 

r-mrcirOcl TT -14-11chtul 	 : 

0.6 	C1.4 
Max(xidi2  (x) 

3.1t1-1.9. 	131 	+ P2 xi2 	P1 WI + P2 T14 

Ni4iTT *FT w'risr 	t 

wi =7, wl =5 

74)1
2 	

3,  w2
2   =7 
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2. 	(a) 4S (Bertrand) 4-1Isri 	31.7117 TO, T1.-07 

ct1 .9f7 	t? 	HTS(1, 

(Cournot) Hisci t-4 fi-Fg t? 

(b) 	 auk 	-11frr 

chit 	: 
= al  -bipi  + cp2  

Y2 =  a2 +cPi -b2P2 
fret 	-5ff-d-Frqf 	qo-tr -4, -4-Tt 

vrai:qtif 	 1-14-1 37 41:0 dal 

I 

3 	(a) 	51tre.91 W4411 31 N.T*.M 	cbitui 310' 

cuo -4-gRzrr 	-cit41 4-r-q-R I 

(b) f 	cif:AR 	'q ,1 100 oiNct t 	3-Ttrt 791 

cti; 	t 	.0-t 
iite.) A 31- 13T WIts1 -ZiT 

q.11C1 t 	50% 	-rw Trt A 31-Rtc* 
tl 3T cbik -1:1rfo-w 

chit 	-1:r 4 44 1,00,000 T. 14 t 	 

* mow tvIsi •Wf"{ 	311:191-  chit 

50,000 T. 14 t *4-‘4 • -T"4N•W tl 

tges,1 chit i 	 60,000 T. at 3T-4 

chik't ii-R1,10,000 T. tk t 	tI V-Oft• 

cilgIR 14 iin-r-qm 	fwit Trrr--o-T 

■1111C11 t 	3 	* 3 	chll 
i1 -a-t<R chit 1 mceitrkid 171 3T-I 

crA 	- 	clout -14 Ttg-d7 Lirtuii+-4 'WE 

TIT rviI 
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4. 	t-11 4-11 ch fiutzr r1TITTzr3 itc 	fw9.  TITR:z1T3ti ch 	f  X11 ~i 11 

-Er*Trr, 	3Trcr 1:11—irciroci f971-14 chl 	w-cd-r 

f-*7# 3-TT4a-9.  Y ch1 v-it 1,  fliHI1Ach 

3Tr-4-e-ff -9-r2T-FTrwai t \ART) 	zrk 	Y 

qr1 -II 14 X oh) -7r2fp:rw-d-r ? 

TriR-Frr3ff 	1 	mi 31-7 fwa.  richr-41 	 

tqpi-ff 	 fa-kkEr-dr4 4)1 -.1-41 .--1-F--q7 
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%TM - 

R. 4TP-114f 	gilt -517-4f   : 	5x12=60 

	

5. 	z(fq 	Liql 211 x 31 1, y 	34zalfrlcll 1-11(1-f 	t 

U=xy2  

(a) 3-115IT:Ri 64q 	Fin '-110-1 cr, cif iTTF-q7 Tifq px  

	

py, x 3T y cf-C1 	m 	t' 1 

(b) (a) -4 t" 41 1:F91 	-9-zrrrr 	 q 

	

6. 	cH1 3-17 	fart 	t-i 4-icf 	fay t-114,3-11Ict) -4931).  ch) 

TR-T471-4-T 7 	f*-Trr Tm -d-1 ? 371-4 371* ml 

, 31-741 '1TIT4 	I 

	

7. 	(a) 	fq-T4 1-) 411-cf, 	Tf--q-c 	F4-M-ff 

at-d-{ 4;1 	i fits *1441 	fd 

a-I 	r -wq fwqr 	 

(b) 	 "qf 	 TfAci-il chi it 

P_1 crl I si-  2 

W4 T-4 
FOrq 1 

T1T-{ (5, 4) (1, 3) 

(4, 1) (2, 2) -i'i -  
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8. 	a-H-1 	zi F.1-) ttL11t 4,47 

4)1 31-14 	ti Tff-k -14-Rco4 (1111d 	 

C(Q) =40Q I qk 3-t117T t 	 H141 act) t : 

P=100— q, 

Tfk fffTri-m, 	(Cournot) Tcreil t t 

, c-41q,-1 (Output) 	(14111 I 4kul14-11 cilAR 

1411- ? 	cefith-rf t* 004 cmi 

9. 	taT t 	s -1 • 14 -1:17:k (choice) ch) Tr r1 

ti 	-q- qr-t 14, fiT-4-  m13or74 trtqks 31-rdTt 
200 Q-1141 3zffq2M alffiT 	100 T. BIZ 

I T4t TF--q-Pl.  14 zrk #14- 	3-0-rff4 	.S 

311a1 	20,000 T.  	atT 	aTT 
10,000 T. 	1-k 4 11 I 

	 61rz1 	 cr) tff-r 1b"1- 	74,:rfu w, io,o00 t t, 
c,14I 	 : 

(a) 4-T-21 -q-ifff, qi-n 4141 ∎311 .b) 	 

err ql-if ml 

(b) 74-"OTA't -i.<14f414 	fT71-74 cmi X1411—zik 	 

64q 	+III 4-)Q-11 u =,r1A7 t ? 

(c) (a) at (b) 	19-4 1-1RuII 4-I • ch 

quiff 
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10. .1=r) 344W-qT-P-11 cn1 113 • 	 t 

-9-1-Tafr-{ t-e)-  gm 3trhyd -ETFIA 

11. Rtrfq*R if 	T1124 ti14-11 \itch ovid 1-441.  t? 

ssR 	30-11q•1 -51f*-41, -1111t1c4-1* GIMIc114 

	 crwrfirtR chl wHirs314) doid 'TT 31rcitr 

d-cit 	-rzlrrr? auk 
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